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Q:-HW. How many job applicants had applied if the
ratio of selected to unselected was 19:17. If 1,200 less
had applied and 800 less selected, then the ratio of
selected to unselected would have been 1:1.

B3l P forg foba smdgept 7 smae fosar T, afe
Wﬁﬁﬁ?ﬁ%ﬂﬂﬁﬁW%dﬁm&%
19:17 YTl TfS 1,200 HH ATAGHI o 3MTde gidr
3R 800 3fTdg® HH A STd, d IIHT 3R T3-

TG SMTAGHI & o BT S UTd 1:1 §ldT|
L7 (A)6000
N 38 -» (B)7200
(C)8400

(D)4800



Q:-1. Rizwan has a box in which he kept
red and blue marbles. The red marbles and
blue marbles were in the ratio 5: 4. After
he lost 5 red marbles the ratio became 10:
9. How many marbles does he have now?

¥ora™ A U 998 | a1 3R Hidl ™
o1 Mierai T& &1 are 9yt el M 5 ¢
4 % 3UTd § 81 5 AT Mierdi @l o1 &
q1¢ 3YUTd 10:9 Bl 91T g1 3P U 3d
fpa=it miferai o=t &2

(A)81

(B)86
= (C)/76
(D)91



Q:-2. In an office of 1200 employees,
the ratio of urban to rural members of
staff is 8:7. After joining of some new
employees, out of which 20 are rural the
ratio becomes 5 : 4. The number of new
urban employees is

1200 HHATRYT T4 TP HATad T,
et | ATHIUT FHYTRG] BT SUTd 8 :
7 81 S ¢ HUATAl & A g4 &
d1¢, 31UTd 5 : 4 8l ST g foraH 20
AT HHARY g | T e HHuTgl
oGBS 6 S e
(B)100
(C)76
(D)108



Q:-3. According to the will, th
wealth of 11, 50,000 was to be
divided between the son and the
daughter in the ratio 2/3 : 5/4.
How much share did the son get (in
Rs lakhs ) ?

T & IR 11,50,000 ¥ DY
mmmgaaﬁv?%
1= 2/3 : 5/4 & 3UTT H gRIT
gaéﬁ)mm%wﬁlﬁm? GIEE)
5.

(A)S

(B)6

(C)7

- (D)4



Q:-4. If 50 less had applied and 25 less
selected, the ratio of selected to
unselected would have been 9 : 4. So
how many candidates had applied if the
ratio of selected to unselected was 2 : 1.
afe 50 BH @ A 3Tde BT e
3R 25 HH g+ MT gId dl gAY G
g T ART DT GE-[CI'I?[ 9 : 4 gldTl fe

T JUT ST T SUTd 2:
?ir" GIRG G ﬁ 3Tded ﬁﬂn YT?
(A)125
(B)250
== (C)375

(D)500



Q:-5. Rs. 3200 is divided among A, B
and C in the ratio of 3:5:8
respectively. What is the difference
(in Rs) between the share of B and C?
3200%. Bl A, B 1gzrrwc Cg 'q%% HHT:
AQUIA 3 :5: 8 HAICT ST & | B
3 C & fe=a ¥ foraqr siar (= #)
?

(A)400
= (B)600
(C)800
(D)900



Q:-6. If A and B are in the ratio 4:5
and the difference of their squares is
81, what is the value of A?

trI%AazrrM:s%aﬁtrﬁrﬁ%&ﬁ?
3P Il P 3 81 7, dl A HTHM
ATd BY?

(A)36

(B)445

(C)15
- (D12



Q:-7. If two numbers are in the ratio
2:3 and the ratio becomes 3: 4 when

8 is added to both the numbers, then
the sum of the two numbers is:

gfe & IWIT 2:3 & SUId H &
%ﬁ%maﬁfﬁ'@_gﬁﬁ 8@@%13%1
, dI UId 3:4 &l SIIdT &,
@13 BT GRTH
3T P2
(A)90
(B)50
(C)60
= (D)40



GS)

N Q:-8.IfA:B=2:3andB:C=3:7
Q{‘ ,thenA+B:B+C:C+ Ais

gicA:B=2:33RB:C=3:7%,

?ﬁA+B B+ C: C+A%



Q:-9. Incomes of x and y are in the
ratio 4 : 3. Their expenditures are in
the ratio 12 : 7. Both save ¥ 3200 at
the end of the month, then the
income of x is ?

X TUTY Bt AT BT U 4:3 §
YT 3% W BT U 12: 7 B
GIFl 918 & 3id | T 3200 D IId
BRA B, dl X B 3T JTd HI?

(A)4000
— (B)8000
(C)6000
(D)2000



Q:-10. In 2 kg mixture of copper and
aluminium, 30% is copper, How much
aluminium powder should be added to the
mixture so that the quantity of copper
becomes 20%?

drd 3k Tegfaf~aw & 2 fo5.um. ffgor o
30% didr g1 39 fayur # fda-n
IS 3R e s
T dTd BT °ET 20% BT SIT6?

(A)900gms

(B)800gms
= (C)1000gms

(D)1200gms



Q:-11. A bag contains coins of X1, 50
paise and 25 paise in the ratio 2: 3:5. If
the total value of these coins is ¥ 228,
then the number of 50 paise coins in that
bag was

wénia,so%%ﬁ;{gsﬁ%%
2: 3:5 & 3AqUId I I%lw'lm
%q%%zg%,a’rwaﬂsgsoﬁﬁ$

- (A)144
(B)124
(C)112
(D)96



| 1nto two part SO
that 5 tlmes the first and 11 times the
second together equals to 195. Then
ratio of the first and second parts is

27 &1 &l U | 59 bR faurera
B3 5 Uget WRT &7 5 AT R g
1n11$r11a;[]'—n &l e 195 &
Ugd 3R gAY URT &I
3IUTd 37
(A)3:2
- (B)17:10
(C)2:7

(D)5:4



Q:-13. A mixture contains milk and water
in the ratio 5: 1. On adding 5 litres of
water, the ratio of milk and water
becomes 5:2. The quantity of milk in the
mixture is:

U fyor #§ g 3R U=l o1 5:1
g1 5 dfteR %ﬁﬁu'%g% gﬁﬂ
BT 3UTd 5 : 2.8 STar 8| fgor d gy
&1 7T fohd &7 %

(A)16 liters
= (B)25 liters

(C)32.5liters

(D)22.75 liters






